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Linear Equation Linear Inequality
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1. Solve the inequality 2 <3x-4<5 .
Answer:
2<3x—-4<5
=>2+4<3x-44+4<5+4
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=>2<x<3

So, all the real numbers, , which are greater than or equal to butless than or equal to , are the solutions of the

given inequality.
The solution set for the given inequality is [2,3] .
2. Solve the inequality 6 < -3(2x—-4) < 12
Answer:

6<-32x-4) <12

=>2<-(2x-4) <4

=>-222x-4> -4

>4-2>22x>4-4

=>222x>0

=>1>2x>0

So, the solution set for the given inequality is (0,1) .

3. Solve the inequality —3 <4 — 7% <18 .

Answer:

~

X
2
=>1>§>—2

57> >-14

So, the solution set for the given inequality is [-4,2] .
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